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f5l: B FIEFEE
FIEABNEE T

FIX\HVEBNF
(FEN) i=[+]-] Iy { (+|-) (Im) }
amy =(FHAF { x|/) BEF) ]
(EF) ::=ident |number|¢ " <{(FiEZR)
c) )




+ (FRIER) i=[+[-] <m) { () I )

- procedure expr;
- begin

-  if sym in [ plus, minus ] then
-  begin
getsym; term;
- end
- else term;

- while sym in [plus, minus] do
- begin

- getsym; term;

- end

- end;



)y =C(BAF> { x|/ (BAF)}

* Procedure term:

* Dbegin

. factor;

. while sym in [times, slash] do
. begin

. getsym;

. factor;

. end

* end:
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A

K| F) :i=ident|number|¢ " {(FTiER) )’

Procedure factor:

begin

end:

if sym=ident
then getsym
else
if sym=number
then getsym
else
if sym=*(¢
then begin
getsym;
expr;
if sym=°)’
then getsym
else error
end
else error
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b) M[X, a] =error ¥
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BEGIN ﬁa;ﬁ%%

L, PIEESCRTARS AR, R

WHILE FLAG_ DO
BEGIN

HERMAFS EIEHEHBIEXH;

IF X € Vt THEN IF X=a THEN o
B T—PM A Si%Ei#a
ELSE ERROR

ELSE 1IF X=¢#> THEN

IF X=a THEN FLAG:=FALSE
ELSE ERROR
ELSE IF MI[X, al={X —>X,X,. . X}
THEN 38X, X ., .., X,— e
ELSE ERROR
END OF WHILE;

STOP/*5T Ak, HFESTH /
END
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v KFirstZ& 4§
First(BE)={(, 1}
First(E")={+, &
First(T)={(, 1}
First (T")={*, &
First (F)={(, 1}

v’ 3KFollow#g:
Follow (E)={) , #}
Follow (E")={), #}
Follow (T)={ +, ), #
Follow (T")={+, ), #}

Follow (F)={*, +, ), #
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s AFA:
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e P7/3: 8, 9
AFA —> DFA } PFASE Pzt e
Ko=T11] K suve (K. 0D ove (K1)
move ko, 1) =11] £o=10] Ei
Ki= 1) k=11 Xl Kz
move (Ki.1)=11,2) g2z 11,27 £y K>
smove (k1,03 = 1) kn=T11,%] Ki £y
Lz 11 2) 4= 11,2,%] K> £e
move (s, 1= 11.2)
mave (k2,00 =11, 3) DFA WA R T < LA
. / ’ \/
move lks. 1) = {1.2.6] —(0) I ey Q 1% @' D@
mave (ks e) = il]’ /C/' K
0

ku=112.4]
move w1 ) = flj}l

move (kw,0) = Tf"b\]
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4

M(Z’O)::{Ivz} QM(Ivl)T {l'} ’M(yvl):-gvM(271): {y} vmﬁmmm DFAo
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e P7/3: 8, 9

NFA —=PFA: EFA#e Pridesie e

Ko = 1x] A saove (K. 0D srove (K5 1 D
move (ko o2 = 1% Ko=1x] £ Ko 0
move (Eo, 10 = i"j &L= T=] Ko K2 |
ki= 12) L= {x.21 K Ky I
move L. 0) = Tx.2] K= 1yl Ky o
move (K., 12 :iﬁj kusfx,xj] Ky Ko o
ka- 1x.2] Ks=Lx,y.2] Ky Ly [
move (ks 0) = {x,2] o
move (ry 10 = Taoy) A ALRA e T D

Kz = ijj @

move ( ks, o) = i)"jj‘ J

move LKy, 10 =

k-,»:ix,ﬂj

move Lkw. ) = Ta,y.2 ]
move (Ko, 12 = [x]

ks= i,xJT\ie]

move(k\r,o) = iht']!:]‘ﬂ%l
move [ kKy, 120 = i"?ﬂj




S (e

« P72: 1 (1)

, 2, O

« P73: 8, 9

bofaih -/ 0Fk , CAkdy 22 {003 ik e[S Hi"S o
B4 i Ro fdk bl 4 il B 12035 BALL,

S Cole)®

‘f)“ | PR mﬂm@&‘aiqké?mﬁmg
>0y | 5B AF0
JﬁT@) A- 0 EJDA

B0



SE{E

° P72 . 1 (1) Stﬁﬁpﬁiﬁégﬁ&}&%aili
y 2; 5 504118 S 94

518 | 015 ol
e P/3: 8, 9 Z%DSH

S=2 18

2 oS 2 e

5= (o |10)"

9. ¥ M 4. 22 9 DFA /ML . FRAEMABMABERRAINNIES .

W (2.2 63 Y ARG, 160 7] LS ARG
RboEq01.2.2. 453 495 11, 2. 57T 13,47
o7 11,257 455 T Awiv)

A A=1H2) B=13,%)] cH{y] Pp=16.13

|"/C;\‘I
s S NSy <.
’}FN\' e 79« ;[0‘) i SEAAN AT
s P N * =
=(a)— = BJ—=—E) ) bt
(O
b [




